XMVN VA
EAREORREE HANSAVFLEX

.3

#0O1 NPT 4L e S

BHER 1 mHELH : :

%0 2 KRG AT !

BHER 2 24°R#
gges EDREOREERE
3 .| BE(TH 8RR I HLIEIR)

BH TEE4 - Lz -

- L1 -
2
BRZER. FA, ENAENATHTHERENHATESHERRERNERER,
3 @

R3] THED B

XMVN NW 04 HL VA L 6 PN 315 1/4" -18 NPT M12x1.5 16,4 30,5 23,5 19
XMVN NW 04 HL 1/2VA L 6 PN 315 1/2" -14 NPT M12x1.5 22,5 38,0 31,0 27
XMVN NW 06 HL VA L 8 PN 315 1/4" -18 NPT M14x 1.5 16,4 30,5 23,5 19
XMVN NW 06 HL 1/2VA L 8 PN 315 1/2" -14 NPT M14x1.5 22,6 38,0 31,0 27
XMVN NW 08 HL VA L 10 PN 315 1/4" -18 NPT M16x 1.5 16,4 31,0 24,0 19
XMVN NW 08 HL 1/2VA L 10 PN 315 1/2" -14 NPT M16x 1.5 22,6 39,0 32,0 27
XMVN NW 10 HL VA L 12 PN 315 1/4" -18 NPT M18x 1.5 16,4 31,0 24,0 19
XMVNNW 10 HL 1/2VA L 12 PN 315 1/2" -14 NPT M18x 1.5 22,6 39,0 32,0 27
XMVN NW 03 HS VA S 6 PN 630 1/2" -14 NPT M14x1.5 22,6 40,0 33,0 27
XMVN NW 04 HS VA S 8 PN 630 1/2" -14 NPT M16x 1.5 22,6 40,0 33,0 27
XMVN NW 06 HS VA S 10 PN 630 1/2" -14 NPT M18x 1.5 22,6 40,0 32,5 27
XMVN NW 08 HS VA S 12 PN 630 1/2" -14 NPT M20x 1.5 22,6 40,0 32,5 27
SZHRFLL=FER =B S=E - PN=FEEN PB=RAIEEN - 0=EAER

RS
MVN VA EHREOERERE THRHBOF

&4
DKIVA AT RRANEEEHF

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
22.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



